COMMERCIAL RAILING

2x
Aluminum Railing

Stiffener _&

e

1o
22Ra|I

Typ. Top Rail

—

~2x25

| +—1x1

o—4x4

/'ZXZ%

A
Y
IN

72

BSL170-6 - RAILING 42" WITH 4" SPACING - 1" x 1" PICKETS

WITH ALUMINUM PICKET INSERTS

Note: Use BOCA/ICC Approved Post Insert
Meets IBC, SBC & BOCA /ICC Code Requirements.
See Local Building Code Authority for Compliance

BILL OF MATERIALS

PART # QUAN. DESCRIPTION

BP4444 4X4X44

BR22572 2 2X21/2X72

BPk1138 |13 1 X1X381/2
OPTIONAL CAPS

GRS2256 1 GUARD RAIL

BTB225 4 STIFFENER TRIM &

BASE BRACKET

BLACKIline

HIGH HEAT PERFO

RMANCEE

ORNAMENTAL DESIGN

#: BSL 170-6

OFFICE: (360) 398- 1824
1325 Marietta Ave. Bellingham, WA 98226
Web Site: http://www.blacklinehhp.com

REV ! AUGUST 2014

DWG NUMBER

scalE 1 1:1

Property of Blackline

SHEET 1 OF 1




COMMERCIAL RAILING

2x23 Rai

Aluminum Railing

Stiffener _¥

e

Typ. Top Rail
— BILL OF MATERIALS
A A | \E PART # QUAN. DESCRIPTION
2— | 4
\ZXZ% BP4444 4x4x44
BR22596 2 2x21/2 x96
T 1x1 BPKk1138  Jis 1x1x381/2
1 OPTIONAL CAPS
39 >
44 GRS2258 1 GUARD RAIL STIFFENER
- 4x4 BTB225 4 TRIM & BASE BRACKET
1
2x25
Y é 2
|
Y
- — - /4
- 96 -
BSL170-8 - RAILING 42" WITH 4" SPACING - 1" x 1" PICKETS HIGH HEAT PERFORMANCEE
WITH ALUMINUM PICKET INSERT ORNAMENTAL DESIGN | OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226
Note: Use BOCA/ICC Approved Post Insert #. BSL 170-8 Web Site: http://www.blacklinehhp.com
Meets IBC, SBC & BOCA/ICC Code Requirements. REV : AUGUST 2014 DWG NUMBER
See Local Building Code Authority for Compliance scate : 1:1 SHEET 1 OF 1
Property of Blackline




COMMERCIAL RAILING

Aluminum Railing

Stiffener _;

2x 23 Rl

e

Typ. Top Rail
3 Screws Per Rail
3 Alum. Picket Inserts
A A f | / \ \ 1
2 \ \ =
13 / \ 1-2x23
t : : : = 1x13
4 302 L —1x1

a—4x4

L -2x235

A

Y

w
[<-JEN]

BSL171-6 - RAILING 42" WITH 3

Note: Use BOCA/ICC Approved Post Insert
Meets IBC, SBC & BOCA /ICC Code Requirements.
See Local Building Code Authority for Compliance

v

é" SPACING - 1" x 1" PICKETS

72

BILL OF MATERIALS
PART # QUAN. DESCRIPTION
BP4444 4x4x44
BR22572 2 2x21/2x72
BR11346 1 13/4 x1x72
BPK1138 13 1 x1x381/2

OPTIONAL CAPS
GRS2256 1 GUARD RAIL STIFFENER
BWM134 2 WALL MOUNT
BTB225 4 TRIM & BASE BRACKET
BS1 19 1" SET SCREWS
ss1 2 #12 x 1" FLAT HEAD SCREW{

BLACKIine

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN

OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226

#. BSL 171-6 Web Site: http://www.blacklinehhp.com
REV . AUGUST 2014 DWG NUMBER
scate : 1:1 SHEET 1 OF 1

Property of Blackline




COMMERCIAL RAILING

Aluminum Railing

Stiffener _;

e

4 SET SCREWS
4 ALUM. PICKET INSERTS

Typ. Top Rail

I A*Z_t:ﬂ]
1

// \\

115

AR

~2x21

—1x1>

39

NI

|l 1+—1x1

- 4x4

| oxx21

w
(oo N

96

e

BSL171-8 - RAILING 42" WITH 3

Note: Use BOCA /ICC Approved Post Insert
Meets IBC, SBC & BOCA /ICC Code Requirements.
See Local Building Code Authority for Compliance

14
8

" SPACING - 1" x 1" PICKETS

BILL OF MATERIALS

PART # QUAN. DESCRIPTION
BPa4ds 4x4x44
BR22596 2 2x21/2 x96
BR11348 1 13/4 x 1 x 96
BPK1138 18 1x1x381/2
OPTIONAL CAPS

GRS2258 1 GUARD RAIL STIFFENER
BTB225 4 TRIM & BASE BRACKET

Ss1 2 #12 x 1" FLAT HEAD SCREWS
BWM134 2 WALL MOUNT

BLACKIline W

HIGH HEAT PERFO

ORNAMENTAL DESIGN

OFFICE: (360) 398- 1824
1325 Marietta Ave. Bellingham, WA 98226

#. BSL 171-8 Web Site: http://www.blacklinehhp.com
REV : AUGUST 2014 DWG NUMBER _:
scatE : 1:1 SHEET 1 OF 1

Property of Blackline




COMMERCIAL RAILING

2x 23 Rai
Aluminum Railing

Stiffener 1

e

Typ. Top Rail
7 Set Serews BILL OF MATERIALS
3 Alum. Picket Inserts PART # QUAN. DESCRIPTION
BP4444 4x4x44
A | | 2 | y BR113472 |1 13/4x1x72
3
8_ L7\ I/ \ I/ N L7 N\ I/ \ L J |7 \ 1/ \ 1/ \ 1/ \ 1 N\ 77\
P QIOKIOIOIOOIOIOINIOION L
' ZLIN A@L ZLIN ZLIN Zd\ N ZLIN ZLIN A@L ZLINS—Z]
- o \ BP1138 13 1x1x381/2
1
2x2 > OPTIONAL CAPS
39 1 x 1x1 3 BR4 12 4" 0.D. RINGS
44 2 4
GRS2256 1 GUARD RAIL STIFFENER
1x1 BTB225 4 TRIM & BASE BRACKET
BWM134 2 WALL MOUNT
o4—4x4
Ss1 2 #12 x 1" FLAT HEAD SCREWS
/‘ 2 X 2 é
) ’1] 1
Y _ﬂ] |
- 4
- 72 -

] BLACKIline

BSL-174-6 RAILING 42" WITH 4" SPACING AND 4" RINGS-1" x 1" PICKETS HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN OFFICE: (360) 398-1824
Note: Use BOCA /ICC Approved Post Insert 1325 Marietta Ave. Bellingham, WA 98226
Meets IBC, SBC & BOCA /ICC Code Requirements. #: BSL 174-6 Web Site: http://www.blacklinehhp.com
See Local Building Code Authority for Compliance REV : AUGUST 2014 DWG NUMBER _:

scALE : 1:1 SHEET 1 OF 1

Property of Blackline




COMMERCIAL RAILING

4 Set Screws
4 Alum. Picket Inserts

- [\

2x2%Rail

Aluminum Railing

Stiffener _¥

e

Typ. Top Rail

BILL OF MATERIALS

g PART # QUAN. DESCRIPTION

BP4444 4x4x44

7
L7\ I/ \ /7 d \ |/ \ I// \l |4 N I/ \ 1/ \ |/ \ 1/ ‘V \ 14 N\ |/ \ I// N 17\

[ JOIOIOKIOIOIO!
QIOOLIOIOIOIDIOIACIOIOIKRICIOIO SCEN S T

39

NI

BR22596 2 2x21/2x96
1
2X2 5
BPK1138 18 1x1x381/2
\¥ 3
1x12 OPTIONAL CAPS
4
BR4 17 4" 0.D. RINGS
1x1 GRS2258 1 GUARD RAIL STIFFENER
BTB225 4 TRIM & BASE BRACKET
- 4x4
BWM134 2 WALL MOUNT
2x21
| 2

‘/( Ss1 2 #12 x 1" FLAT HEAD SCREWS

BSL-174-8 RAILING 42" WITH 4" SPACING AND 4" RINGS- 1" x 1" PICKETS

Note: Use BOCA /ICC Approved Post Insert
Meets IBC, SBC & BOCA /ICC Code Requirements.
See Local Building Code Authority for Compliance

BLACKIline

HIGH HEAT PERFORMANCE

ORNAMENTAL DESIGN OFFICE: (360) 398-1824
1325 Marietta Ave. Bellingham, WA 98226
#. BSL 174-8 Web Site: http://www.blacklinehhp.com

REV : AUGUST 2014 DWG NUMBER @
scate : 1:1 SHEET 1 OF 1

Property of Blackline






